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Section-A (MCQ’s)
By : Choos correct answer for each from the given ogtlons

(h o 7| isa matrix.

(a) Diganol (b) Scalar (c) Rectangular (d) Column
(ii) The mean of 30 observations is 100, their sumis 0

(a)900 (b) 1000 ~ (c)1500 (d) 3000
(i) Thepolynomial expression-1/4 +2x +5 w.rt thetermsiscalled

(a) Monomial (b) Bionomial (c) Trinomial (d) None of these
(iv)  log, 1= ;

(a)1 (b)a (c)0 (d)10
(v)  Aninscribed angle of a majorare is .

(a)Acute (b) Obtuse (c) 90 (d) None of these
(vi) x’y*+125= e o 4 .

(a) (xy — 5)(%y" + 5xyF + 25) (b) (Xyz+5)1(;y4 — 5%y +25)

(c) (X)é+5)(x2 ! 4 5xy7 +25) (d)&xy” - 5) £y - 5xy’ +25)
(vii)  The'sub-duplicate ratio of 4: 9|s ~

(a)16:81 (b)2 3(c)Both (a)& (b) (d) None ofthese
(viii) Cot60-=

1 3

@7 (bl/3 (©) > (d)1
(IX) @uB)=

(@anB)' (b)ALB' (c)ars! (d) None ofthese
(x) ‘An angle with measure greater than 90-is called angle.

(a)Right (b) Congruent (c)Acute (d) Obtuse
(xi)y x+1=0,isa equation.

(a) Quadratic (b)LInear (c) Non- Linear(d) Irrational
(xii)  IntriangleABC,m ZB = 90° than . 75

(a) a® (b)—a? (c) b (d) None of these
(Xiii) o/ n _

(a) Lo : (b)xn,fn (C) m+n (d)xm;h



(xiv) Line segment joining the vertex and to the mid-point of the opposite side of traingle is
called

(a)AItitu'de (b)Hypotenuse  (c)Median (d) None of these
(xv)  The characteristic oflog 0.0000225 is s

(a)4 (b)5 (c)-4 (d)-5

(Xvi) @+b)*+ @—b)y = : o ;
2 b

(a)4ab (b)-4ab Cmakad Il
(xvii) Theorderof is .

(a)2x1 (b)1x2 (c)1x1 (d)2x2
(xviii) (3,-2)isin quadrant.

(a)First (b) Second (d) Third (d)Fourth
(xix) [fA=,then|Al=__ .

(a)6 (b)4 (c)2 (d)0
(xx)  |-5], absolute value of -5 is z

(a)-5 (b) ()5 (d) None of these

Section-B

Note: Solve any TEN of the following questions. Each question carries 05 marks.
Q.2 Findthe value ofx-ywhenx-+y=-9andxy = 20.

Q.3 Findthefactorsof. a” b—c)¥b’c~a)+c’ @a~Db)

Q4 IfA={1,2, 3,4}, findthe two sets Band C that are subset ofAsuchthat B C.
Q.5 Provethat co+taM=cotsed 8

Q.6 Findthelogarithm of 125 to the base .

Q.7 Discuss the advantages of tabulation and classification.

' 4 8
Q8  Simplify X2 —4x-5 ’ |

Q.9 ifx+7:2(x+14)isthe duplicateratioof 5: 8, find the value of x.
Q.10 Findthe solution setof [5y - 3|-6=3.
Q.11 Prove that, the sum of measures of the angles of a triangle is 180-.

1 1
Q.12 Eliminate 'y’ from the equation : ¥ +;=b and y+;=b
T
Q.13 Ify=+/5-2, findthevalueof ¥’ - =z
1 2
Q.14 Findtheinverse of [0 1 ]

Q.15 Define any ONE of the following terms and illustrate by drawing figure.
Adjacent angles Vertically opposite angles



Section-C

V6733
3584
. . 4m X 1 54m ~2n+l % 9n-2m
b Simplify: :
(b) plify 10™ x 250
Q.17 (a)Consturctatriangle ABCTMAB = 45cmmBC = 5cm, m£B =60 5 which and
: draw its circumscribed.

Q.16 (a)Solve by using logarithm:

tar30° + tam5®

(b) Find the value of : - tarB P Earlss

Q.18 (a)Solve the using matrics : 4x+y=2and 7x + 2y = 3.



